Total Marks:15

Class:10th

Subject:Math(Objective)

Choose the best answer.Cutting overwriting and use of inkremover is not allowed
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Standard form of quadratic equation:
a)ax =0 b)bx+c=0 b# 0
¢)ax +bx+c=0 d) ax =bx a# 0

Discriminant of equation ax +bx+c=0

a)b -4ac b)b +4ac
¢)-b +4ac d)-b’-4ac
Sum of cube roots of unity is:
a)0 b)1

c)-1 d)3

Find x in proportion 4:x::5:15
a)75/4 b)4/3
¢)3/4 D12

In a ratio X%y, y is called

a) relation b)antecedent
c¢)Consequent d)None of these
G g : . x-2 y
Partial fractions of ————— are of'the
. (F—-D(x+2)
fon: B A B
A X
e $
a) x—1 +2 b) x—1 x+2
A Bx+C Ax+ B (.
= d +
c) x—1 x+2 ) x—1 X+ 2

The different number of ways to‘desctibe a set

are -
a)l b2
c)3 d)4

Aset Q= E|.s:r,b eZAb# O}is called a set of
a)Whole number b)Nafural number
¢)lrrational number  d)Rational number

Mean is affected by change is ...........

a)Place b)Scale
c) Rate d) Origin
3—nmdian= ......

51 15° b)135"
c)150" )30’

Time:15min
:g;_ydz‘l,vu(alsb«'&ﬂu !
a)ax =0 b)bx+c=0 b# 0
c)ax +bx+c=0 d) ax’=bx a% 0
_q__aﬂ/&/.b/ ax2+bx+c=0 o a4 2
a)b'~dac b)b +4ac
¢)-b +4ac d)-b’-4ac
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Era{;’f.f:mz ......
a)l15" b)135’
c)150" d)30’
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Right bisectors of the chord of a circle always

..................

passes through the

et G Lty "

a) Radius b)Circumference a) /1 b)Ls
c)Center d)Diameter )/ S d) 4

12 A circle has only one: by GLld 2 s Ll 12
a)Secant b)Chord a)g L3 b)7s
¢)Diameter d)Center c) A S,

13 p w8k el el I TRE
Ifa chord of a circle subtends a central angle of Ju e L:SO c bd;/ /’5?,’,'/ E/Lj
60 , then length of the chord and radial segment O e URET UL
AC..cvveeenne.

& “ s ” .
a)Congruent b)InCongruent a)J = b)J -4
c)Paralell d)Perpendicular )i d)ss

4 In the figure, O 1s the center of the circle, then Kt > L?...."_:"_Oﬂ’/ K715 u.fdﬁ 14
angle x 1s:

y 0 1]
2)55' b)110° a)ss” b)110
¢)220" D125’ ¢)22Q d)125

15 If the distance between the centers of the two L;ﬁﬁuyly.lﬁ’ﬁu“v 2 K}(I/ Lu;flu.ufl 15

circles is equal to the sum of their radii therthe 2Zu,%‘¢..; 950/ 2
ircles will: n

circles wi ..

a)Intersect e

b)Touch each other externally
¢)Do not intersect
d)Touch each other intepmally
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